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QUESTION 1

Given: and the code fragment: 

Which code fragment, when inserted at line n1, enables the Birdie class to compile? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 
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QUESTION 2

Given: 

and the code fragment: 

Which two code fragments, when inserted at line n1 independently, enable the code print TruckCarBike? (Choose two.) 

A. .sorted(Comparable.comparing(Vehicle::getVName)).reversed() 

B. .sorted((v1, v2) -> Integer.compare(v1.getVId(), v2.getVId())) 

C. .sorted((v1, v2) -> v1.getVId() 

D. .map(v -> v.getVId()) .sorted() 

E. .sorted(Comparator.comparing((Vehicle v) -> v.getVId())) 

Correct Answer: BE 

 

QUESTION 3

Given the code fragment: 
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What type of result is printed? 

A. Time of the Epoch (in milliseconds) 

B. Julian date 

C. Era 

D. Time zone abbreviation 

E. Full-text time zone name 

Correct Answer: E 

Output could be: 

Result: Central European Time 

Note: To make the code work you would need the following code which get today\\'s date in Java. 

Date today = new Date(); 

Reference: http://www.java67.com/2013/01/how-to-format-date-in-java-simpledateformat-example.html 

 

QUESTION 4

Given code fragments: 

and 
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What is the result? 

A. [Dog, Cat, Mouse] 

B. DogCatMouse 

C. null 

D. A compilation error occurs. 

Correct Answer: D 

A compilation error: Uncompilable source code - Erroneous sym type: java.util.List.forEach at line:
t.getList().forEach(Test::printValues); 

 

QUESTION 5

Given the fragment: 

Which code fragment, when inserted at line n1, enables the code to print ABCD? 

A. String str = sList.stream().reduce("",(s1, s2) -> s1.concat(s2)); 

B. String str = sList.stream().reduce("A",(s1, s2) -> s1.concat(s2)); 

C. String str = sList.stream().reduce((s1, s2) -> s1.concat(s2)); 

D. String str = sList.stream().reduce("A",String::concat); 

Correct Answer: A 

The java.util.Arrays.asList(T... a) returns a fixed-size list backed by the specified array. 

Note: Use the following import statements to be able to run the code. 

import java.util.Arrays; 

1Z0-813 PDF Dumps | 1Z0-813 Practice Test | 1Z0-813 Exam Questions                                5 / 7

https://www.pass4itsure.com/1z0-813.html
https://www.pass4itsure.com/1z0-813.html
https://www.pass4itsure.com/1z0-813.html


https://www.pass4itsure.com/1z0-813.html
2022 Latest pass4itsure 1Z0-813 PDF and VCE dumps Download

import java.util.List; 

Incorrect Answers: 

B, D: Output is AABCD 

Reference: https://www.tutorialspoint.com/java/util/arrays_aslist.htm 
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